Original Problem
Yes, -40°C and -40°F. The graph of Celsius and Fahrenheit shows two lines of different gradients. Here is the graph:
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The equations are y = x and y = 1.8x + 32 respectively.

There is no temperature where Kelvin and Celsius readings are equal. The two lines are parallel.
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The equations are y = x and y = x + 273.15 respectively.

There is a temperature where Fahrenheit and Kelvin readings are equal.
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The equation to solve is x + 273.15 = 1.8x + 32

x = 1.8x – 241.15

-0.8x = -241.15

4x = 1205.75

x = 301.4375

The temperature is 301.4375°C or 574.5875°F or 574.5875°K.
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